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���®�þ¤ ¥� ý��¡�ª ¢�¡ �î ü���±�îÂ� ��ó�÷� ¥� ü��� ø ´¨� ñ�Þµ�� ¤¢ ù¢�Ôµ¨� ¢¤�õ ø ý¤øÂ® ü·½±õ ©¤�Þª ß�÷��ì¤��Æ� ö� ¥� ü��úµÞÆì ¢�À¡¤ á�ìø ñ�Þµ�� ¤�ÀÖõ �±¨�½õ ¤¢ Ǒüª á�ìø ���� �b �Üî ©¤�Þª .¢�ª üõ ��Æ½õ ´¨� ý¢Â�¤�îñ�¬� ,�µÆÆð ý�û ùÀþÀ� ¢¤�õ ¤¢ ¶½� �� ßþ�Â���� ,´¨� üû��µõ ý�û �ä�Þ¹õ ©¤�Þª ©¤�Þª ñ�¬� ßþÂ� ù¢�¨ .´¨� ùÀ÷¥ ¤�.Ý��î üõ ö��� �¤ ©¤�Þª´ÈÚþ�� 1.2ø ßÿÞÎõ ü���� ,Û¬�� ñ�Þµ�� �� ¢�Þ÷ ü¨¤Â� �¤ Âõ� ö� á�ìø ¢¤��õ �b �Üî ´Æþ�� üõ ,Âõ� ×þ á�ìø ñ�Þµ�� ü¨¤Â� ý�Â�áøÂª ý�Â� .´¨� ý¤øÂ® ýÂõ� á�®�õ °÷��� üõ�Þ� ´þ�ä¤ á�®�õ ×þ á�ìø ¢¤��õ �b �Üî ü¨¤Â� ´ú� .Àª�� ¢�Þµä� Û��ì.¢�ª üõ ë�Ï� 1´ÈÚþ�� ÓÜµ¿õ ý�û�� ¤¢ Ǒüª ×þ ßµêÂð¤�Âì ö�ð�÷�ð ���� �� .Ý��î üõ áøÂª üb ª ý¢�Àã� ¥� á�®�õ:¥� À��¤�±ä 3 ø 2 ø 1 ��ì¤� ßµêÂð¤�Âì ¥� Û¬�� ý�û ´ÈÚþ�� �f ·õ231 ø 132 ø 312 ø 321 ø 213 ø 123Âð� «�¡ ���� ¤¢ .¢¤�¢ ¢���õ Íþ�Âª �� üÚµÆ� �û ��¿µ÷� ø �û Û� ù�¤ ¢�Àã� .¢¤�¢ ¢��ø Û� ù�¤ À�� Âõ� ×þ ¤¢ üû�ðý�Â� ñ�·õ ý�Â� .¢�Þ÷ ¶½� �ó�bÆõ ýø¤ ö��� üõ ,Àª�� ö�ÆØþ ý�û ­Âê ´½� ø ö�ÆØþ Íþ�Âª �� �û Û�ù�¤ ý�¤�¢ �ó�Æõ ×þÛ� ù�¤ ö���ã� ö��� üõ �¤ ��Àî Âû ø ¢¤�¢ ¢��ø ù�¤ ¸�� ,(Ýþ�È÷ Û��ì ý�þ�Þ� ¢�Âê� ß�� üµìø) ÂÔ÷ 5 ß�� ¥� ÂÔ÷ ×þ ��¿µ÷�.ÝþÂ� üõ ¤�Ø� �¤ Âþ¥ ùbÀä�ì ø¢ üÜî ´ó�� ¤¢ .¢�Þ÷ ��¿µ÷�.¢�¢ ��¹÷� ÕþÂÏ m + n �� ö��� üõ �¤ ÛÞä ö� ,¢�ª ��¹÷� ÕþÂÏ n �þ ÕþÂÏ m �� À÷��µ� üÜÞä Âð� :âÞ� Û¬���Þ� ,Àª�� ÂÊ�ä n ý�¤�¢ B �bä�Þ¹õ ø ÂÊ�ä m ý�¤�¢ A �bä�Þ¹õ Âð� �î ´¨� �¤�¬ ßþÀ� �û �ä�Þ¹õ �� Û¬� ßþ� ö���.´¨� ∪ �� é¢�Âõ "�þ' �fõ�Þä .´¨� ÂÊ�ä m + n ý�¤�¢ A ∪ B �bä�Þ¹õ ø¢�� ÛÞä ø¢ ö� Ûî ,¢�ª ��¹÷� ÕþÂÏ n �� À÷��µ� ö� ¥� Àã� ýÂÚþ¢ ÛÞä Å³¨ ø ÕþÂÏ m �� À÷��µ� üÜÞä Âð� :�Â® Û¬�.À÷�ª üõ ��¹÷� ÕþÂÏ m × n
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21 ü±�îÂ� ��ó�÷� .2 ÛÊêÂÊ�ä m ý�¤�¢ A �bä�Þ¹õ Âð� ,�û �ä�Þ¹õ ö��¥ �� ø ù¢�� ü���� ÛÞä ø¢ Â� ü�µ±õ �Â® Û¬�"ø' �fõ�Þä .´¨� ÂÊ�ä m × n ý�¤�¢ A × B �bä�Þ¹õ ,Àª�� ÂÊ�ä n ý�¤�¢ B �bä�Þ¹õ ø.´ê�þ (©ÂµÆð) Ý�Þã� ×þ ö��� üõ �Â® Û¬� ý�Â� .´¨� ∪ �� é¢�Âõ "�þ' ø ∩ �� é¢�Âõ¥� ÂÔ¨ ý�Â� ø Àª�� ßØÞõ ÕþÂÏ 3 �� "ö�úÔ¬�' �� "¥�Â�ª' ý�ûÂ�Æõ ¢�Àã� Âð� ñ�·õ ý�Â�.´êÂð Ç�� ¤¢ ©ø¤ 12 ö��� üõ "ö�Âú�' �� "¥�Â�ª' ¥� ÂÔ¨ ý�Â� ,¢�ª ��¹÷� ßØÞõ ÕþÂÏ 4 �� "ö�Âú�' �� "ö�úÔ¬�'?´¡�¨ ö��� üõ °�Âõ �ø¥ À�� A = {2,4,6, } �bä�Þ¹õ Ǒ�Ìä� �� .ü¨�î 1.1.2ßþÂÞ�ýÂ�ð¤�Âì ¢�Àã� .¢�¢ Û�ØÈ� ö��� üõ üb ª n ö� �� �î ü��ûùøÂð ¢�Àã� ü�ãþ Ǒüª n ý�û ´ÈÚþ�� ¥� ¤�Ñ�õ 1.1.2ÓþÂã�.´¨� Ýû ¤��î üb ª n ö� ßµêÂð ¤�Âì °��Â� ¤¢ �ú�� �û ùøÂð é�µ¡� �¹�þ� ¤¢ .Pn = n! ¥� ´Æ�¤�±ä Ýû ¤��î üb ª n.¢�¢ ý�� �ÆÔì ×þ ¤¢ �¤ ��µî 5 ö��� üõ ÕþÂÏ À�� �� 1.1.2 ñ�·õǑüª 3 ��¨ ö�Øõ ¤¢ ø Ǒüª 4 �ø¢ ö�Øõ ¤¢ ø ¢�¢ ¤�Âì Ǒüª 5 ö��� üõ ñø� ö�Øõ ¤¢ ö�� ,ý�� 5 ßµêÂð ÂÑ÷ ¤¢ �� .Û�.P5 = 5! = 120 �Â® Û¬� Õ±Ï ø Ý�û¢ üõ ¤�Âì �¤ ùÀ÷�Þ�ì�� Ǒüª �ú�� Â¡� ý�� ¤¢ ø Ǒüª 2 �¤�ú� ö�Øõ ¤¢ ø ùÀ÷�Þ�ì��?¢�¢ ý�� �ÆÔì ×þ ¤¢ �¤ ü®�þ¤ ��µî 4 ø ×þ��ê ��µî 5 ö��� üõ ÕþÂÏ À�� �� 2.1.2 ñ�·õÛî ø Ý�û¢ ¤�Âì Ýû ¤��î ´Æþ�� �¤ üb ª 9 ¢�Àã� ßþ�Â���� ,Ýþ�ùÀÈ÷ Û��ì ý�þ�Þ� ü®�þ¤ °µî ø ×þ��ê °µî ß�� ö�� .Û�.P9 = 9! = 362880 ¥� ¢�� Àû��¡ �¤�±ä �û ´ÈÚþ��¤��î ×þ��ê ý�ú��µî �Ø÷��� ,¢�¢ ý�� �ÆÔì ×þ ¤¢ �¤ ü®�þ¤ ��µî 4 ø ×þ��ê ��µî 5 ö��� üõ ÕþÂÏ À�� �� 3.1.2 ñ�·õ.À�ª�� Ýû ¤��î ��÷ ü®�þ¤ °µî ø Ýû¤��î ×þ��ê °µî ý�û ´ÈÚþ�� ¢�Àã� .À÷�þ�Þµõ ��÷ ü®�þ¤ °µî ø ù¢�� �þ�Þµõ �f õ�î ×þ��ê °µî �î Ý��î üõ ­Âê .Û�Ýû ¤��î ÕþÂÏ 2! �� (ü®�þ¤ ø ×þ��ê) �µ¨¢ ø¢ ßþ� �î �¹÷� ¥� ø ´¨� P4 = 4! ü®�þ¤ °µî ý�û ´ÈÚþ�� ø P5 = 5! Ýû.5! × 4! × 2! = 5760 ¥� ´Æ�¤�±ä �û ´ÈÚþ�� Ûî ¢�Àã� ßþ�Â���� À÷Â�ð üõ ¤�Âì¢�¢ ý�� �ÆÔì ×þ ¤¢ ö��� üõ ÕþÂÏ À�� �� �¤ üÞ�ª ��µî 4 ø ü®�þ¤ ��µî 3 ø ×þ��ê ��µî 5 .ü¨�î 2.1.2ßþÂÞ�?À�ª�� Ýû ý�Üú� �µª¤ Âû ý�ú��µî �î?Àª�³� §�±ó À÷��� üõ ÕþÂÏ À�� �� �ø�Ôµõ ¤��Üª 3 ø ÓÜµ¿õ ßû�Â�� 4 ý�¤�¢ üÊ¿ª 4.1.2 ñ�·õ.4! × 3! = 144 ¥� ´Æ�¤�±ä �û ´ÈÚþ�� Ûî ¢�Àã� �û¤��Üª ß�� �þ�Þ� ø �û ßû�Â�� ß�� �þ�Þ� ­Âê �� .Û�.¢�¢ Àû��¡ Â��ç� �¤ �û ´ÈÚþ�� ¢�Àã� ßþ� ø ¢�ª ¤�ÂØ� üÿ�ª ´¨� ßØÞõ Û��Æõ ü¡Â� ¤¢ 1.1.2°ÜÎõüÞì¤ ¤�ú� ¢Àä À�� (�) ?´¡�¨ ö��� üõ ¤�ÂØ� �� üÞì¤ ¤�ú� ¢Àä À�� (Óó�) ,9 �� 0 ��ì¤� �� .ü¨�î 3.1.2ßþÂÞ�.´¡�¨ ö��� üõ 200 ¥� ÂµÞî üÞì¤ �¨ �ø¥ ¢Àä À�� (�) ?´¡�¨ ö��� üõ ¤�ÂØ� öøÀ�



22 ü±�îÂ� ��ó�÷� .2 ÛÊê�î ´ª�÷ ö��� üõ üÞì¤ ¤�ú� ¢Àä À�� 9 ø 8 ø 5 ø 2 ø 1 ��ì¤� �� ñ�·õ 5.1.2 ñ�·õ5! ���� .Àª�±÷ ¥�¹õ ¤�ÂØ� (� 54 ���� .Àª�� ¥�¹õ ¤�ÂØ� (Óó�.¢�¢ ¤�Âì ùÂþ�¢ ×þ Í�½õ ¤¢ ÕþÂÏ Pn−1 = (n − 1)! �� ö��� üõ �¤ �þ�Þµõ Ǒüª n ,«�¡ ´ó�� ×þ ¤¢ 2.1.2°ÜÎõ?À���È�� ��õ ×þ ñ�� À�÷��� üõ ÂÔ÷ 6 ÕþÂÏ À�� �� 6.1.2 ñ�·õ.¢�� Àû��¡ (6− 1)! = 5! = 120 Â��Â� ���� ,Û±ì °ÜÎõ Õ±Ï«�¡ ´ó�� ßþ� ¤¢ .Û�°��Â� ,°�îÂ� 2.2¤�Î� .(1 ≤ k ≤ n) ¢�¢ Û�ØÈ� ö��� üõ üb ª k ö� �� �î ü��ûùøÂð ¢�Àã� ü�ãþ üb ª n ¥� üb ª k ý�û ´ÈÚþ�� ¥� ¤�Ñ�õ.Ý�û¢ üõ ¤�Âì Ýû ý�Üú� ´¨�¤ �� ²� ¥� �¤ Ǒ��ª� ßþ� ´ÈÚþ�� À�÷�õ ý¢�¢¤�Âìßþ� ,Àª�� Ýúõ Ǒ��ª� ö� ßµêÂð¤�Âì 2°��Â� �Øþ¤�Î� Ý�û¢ ¤�Âì (k ≤ n) ö�Øõ k ¤¢ �¤ üb ª n Ý�û��¿� Âð� 1.2.2ÓþÂã�ø Ý���ð n ¥� k °��Â� �¤ Pn
k ¤�ÀÖõ .¢�¢ ��¹÷� ÕþÂÏ Pn

k = (n) × (n − 1) × (n − 2) · · · × (n − k + 1) �� ö��� üõ �¤ ÛÞä
Pn

k =
n!

(n − k)!ÛÞä ßþ� �� - Àª�� Ǒ��ª� ¤¢ �ú�� �û ùøÂð é�µ¡� - Àª�±÷ ,Ýúõ ÓÜµ¿õ (k ≤ n) ö�Øõ k ¤¢ ,üb ª n ßþ� ßµêÂð¤�Âì °��Â� Âð�ßþ�Â���� Ý��î üõ ÂÆî Pn
k ¥� k! ¢�Àã� ßþ�Â���� ,´Æ�÷ Ýúõ Ǒüª k ýÂ�ð¤�Âì °��Â� ö�� 4 Ý�û¢ üõ ö�È÷ Cn

k �� ø �µÔð 3°�îÂ�
Cn

k =
Pn

k

k!
=⇒ Cn

k =
n!

k!(n − k)!?´¡�¨ 8 ø 9 ø 7 ø 6 ø 4 ø 3 ø 1 ��ì¤� �� ö��� üõ üÞì¤ 4 ¢Àä À�� 1.2.2 ñ�·õ
P74 = 7!

(7−4)!
= 7× 6× 5× 4 = 840 ´¨� Ýúõ °��Â� ¢�Àä� ßµêÂð¤�Âì ¤¢ �fÞÜÆõ .Û�¤�ÂØ� �� üêÂ� 10 �ÞÜî À�� ø (¤�ÂØ� öøÀ�) üêÂ� ¤�ú� �ÞÜî À�� Combinatorial �ÞÜî éøÂ� �� .ü¨�î 1.2.2ßþÂÞ�.´¡�¨ ö��� üõ?¢Âî �À� ��µî 3 ��µî 5 ß�� ¥� ö��� üõ ÕþÂÏ À�� �� 2.2.2 ñ�·õ

C53 = 5!3!(5−3)!
= 10Å� ´Æ�÷ Ýúõ �¨ ßþ� °��Â� ø ù¢�� Ýúõ ��µî 3 ö¢Âî �À� �ú�� ö�� .Û�?¢�Þ÷ �À� ü�� ùbÂúõ 2 ø �õÂì ùbÂúõ 3 ,ü�� ùbÂúõ 6 ø �õÂì ùbÂúõ 5 ß�� ¥� ö��� üõ ÕþÂÏ À�� �� 3.2.2 ñ�·õ

C53 × C62 = 10× 15 = 150 �Â® Û¬� Õ±Ï .Û�
Arrangment2
Combination3.À�û¢ üõ ö�È÷ (n

k
) �þ ø CN,K �þ ø C(n, k) �þ ø Ck

n �� �¤ Cn
k
â��Âõ ü¡Â� ¤¢4



23 ü±�îÂ� ��ó�÷� .2 ÛÊê?¢Âî ��¿µ÷� �ø¥ ý�û ù¤�Þª �� �¤�î 2 ö��µ�õ ÕþÂÏ À�� �� 50 �� 1 ý�û ù¤�Þª �� �¤�î 50 ß�� ¥� .ü¨�î 4.2.2 ñ�·õ: ùÂÔ÷ 11 Ý�� ×þ �� 5.2.2 ñ�·õ
P11 = 11! = 39916800 ?À�û¢ Û�ØÈ� ùÂÔ÷ 11 Ó¬×þ À�÷��� üõ ÕþÂÏ À�� �� (Óó�
P116 = 11!5!

= 332640 ?À�û¢ üõ Û�ØÈ� ùÂÔ÷ 6 Ó¬×þ ÕþÂÏ À�� �� (�
C116 = 11!6!×5!

= 462 ?À�û¢ Û�ØÈ� ùÂÔ÷ 6 ý�û ùøÂð À�÷��� üõ ÕþÂÏ À�� �� (�:¢Â� ùÂú� Âþ¥ ß�÷��ì ¥� ö��� üõ Ǒüª n ¥� Ǒüª k ¢�Àã� ö¢Âî �À� ý�Â� «�¡ ´ó�� ¤¢ 1.2.2°ÜÎõ.¢�¢ ¤�Âì ý�� n ¤¢ ÕþÂÏ nk �� Àª�� ¥�¹õ Ǒüª ¤�ÂØ� �î üµó�� ¤¢ ö��� üõ �¤ �þ�Þµõ Ǒüª k ¢�Àã� (Óó�.¢�¢ ¤�Âì ý�� n ¤¢ ÕþÂÏ Cn+k−1
k �� Àª�� ¥�¹õ Ǒüª ¤�ÂØ� �î üµó�� ¤¢ ö��� üõ �¤ �þ�ÞµõÂ�è Ǒüª k ¢�Àã� (�.¢�¢ ¤�Âì ý�� n ¤¢ ÕþÂÏ Pn

k �� Àª�� ¥�¹õÂ�è Ǒüª ¤�ÂØ� �î üµó�� ¤¢ ö��� üõ �¤ �þ�Þµõ Ǒüª k ¢�Àã� (�.¢�¢ ¤�Âì ý�� n ¤¢ ÕþÂÏ Cn
k �� Àª�� ¥�¹õÂ�è Ǒüª ¤�ÂØ� �î üµó�� ¤¢ ö��� üõ �¤ �þ�ÞµõÂ�è Ǒüª k ¢�Àã� (¢

C
n−k(r−1)−1
n−1 �� Â��Â� À¨Â� üb ª r Ûì�À� ÂÔ÷ Âû �� Ý�û��¿� Âð� ø ù¢�� Cn+k−1

n−1 Â��Â� ÂÔ÷ n ß�� ö�ÆØþ üb ª k Ý�ÆÖ� ý�ûù�¤ ¢�Àã� (û.´¨�Ýúõ Ýû �� �ú÷� °��Â� �î) ñø� á�÷ ¥� �ú÷� Ǒüª n1 ø À�µÆ�÷ �þ�Þµõ Ýû ¥� üÚÞû �î Ý�ª�� �µª�¢ üb ª n Âð� 2.2.2ÓþÂã��¤ Ǒ��ª� ßþ� n1 + n2 + · · · + nk = n �î �¹÷� ¥� .À�ª�� ��−k á�÷ ¥� �ú÷� Ǒüª nk ø ... ø �ø¢ á�÷ ¥� �ú÷� Ǒüª n2 ø (´Æ�÷�� ö��� üõ
( n
n1,n2,···,nk

) =
n!

n1!n2! · · ·nk! .¢�¢ ¤�Âì Ýû ¤��î ÕþÂÏ×þ ¤¢ üóÀ�¬ ù¢ ýø¤ À�÷��� üõ ÕþÂÏ À�� �� ý¢��� �Â¡ ÂÔ÷ �¨ ø ý¢Â�øÂ� ÂÔ÷ ¤�ú� ,ý¢ø¤ø¢ ÂÔ÷ �¨ 6.2.2 ñ�·õ?À�ª�� Ýû ý�Üú� �û ýÂúÈÞû �Ø÷��� À���È�� Óþ¢¤ü��¹��� Âð� ø ÕþÂÏ 3!×4!×3!×3! �� À�ª�� �þ�Þµõ�úþÂúÈÞûø Àª�� �µª�¢ ´�Þû� ,Ýû �� �úþÂúª Ýû ü��¹��� Âð� .Û�.´¨� ÂþÁ³÷�Øõ� ÕþÂÏ 10!3!×4!×3!
Àª�� �µª�À÷ ´�Þû� ,Ýû �� �úþÂúª Ýû,¢�Þ÷ Ý�ÆÖ� �þ�Þµõ Â�è üþ�� n ø �þ�Þµõ Â�è üþ�� m ùøÂð ø¢ �� �¤ Ǒüª m + n ö��� üõ �î ü��±�îÂ� ý¢�Àã� 2.2.2°ÜÎõ.´¨� (2m)!

(m!)2×2!
Â��Â� ¤�ÀÖõ ßþ� ,Àª�� m = n �î üµó�� ¤¢ .´¨� (m+n)!

m!×n! Â��Â�.ñ��õ 2.2.2ßþÂÞ�´��� .5Ý��î üõ ÓþÂã� n! = (n)× (n−1)× (n−2)× · · · × (3) × (2)× (1) �¤�Ê� �¤ n À�÷�õ ý¢Àä Ûþ¤�µî�ê (10! = 1 , 1! = 1 , Pn
n = n! , Pn

n−1 = n! , Pn1 = n , Cn0 = 1 , Cn1 = n , Cn
n−1 = n À��î:ÀþÂ±� ¤�Ø� Âþ¥ �¤�Ê� À�÷��� üõ �¤ Ù��óÂµ¨� ñ�õÂê ï¤�� ¢�Àä� Ûþ¤�µî�ê �b ±¨�½õ ý�Â� ø Àû¢ üõ Õ�ì¢ ���� ×��î ¢�Àä� �b ±¨�½õ ¤¢ ùÀä�ì ßþ�5

n! ∼ (
n

e
)n

√2πn



24 ü±�îÂ� ��ó�÷� .2 ÛÊê?´ª�÷ 3 ø 2 ø 1 ��ì¤� �� ö��� üõ üÞì¤ ø¢ ¢Àä À�� (2?À�µÆþ�� Ó¬ ¤¢ À�÷��� üõ Âµ¡¢ 5 ø ÂÆ� 3 ÕþÂÏ À�� �� (3?´ª�î ö�À�õ ×þ ¤ø¢ �¤ ´¡¤¢ 7 ö��� üõ ÕþÂÏ À�� �� (4¤��î Ù÷ÂÞû ý�û ��� �Ø÷��� ¢�¢ ¤�Âì Óþ¢¤ ×þ ¤¢ �¤ �±¨ ��� 2 ø ù��¨ ��� 3 ø À�Ô¨ ��� 4 ö��� üõ ÕþÂÏ À�� �� (5?À÷Â�ð ¤�Âì Ýû?´¡�¨ (¤�ÂØ� öøÀ�) üÞì¤ ¤�ú� ¢�Àä� ö��� üõ 9 ø 5 ø 1 ø 0 ��ì¤� �� ÕþÂÏ À�� �� (6?¢�¢ ¤�Âì ´¨� ùÂÔ÷ 5 üõ�¨ ´�êÂÒ ø ÂÔ÷ 7 üõø¢ ,ÂÔ÷ 3 üóø� ´�êÂÒ �î ë��� 3 ¤¢ �¤ ÂÔ÷ 15 ö��� üõ ÕþÂÏ À�� �� (7.¥�¹õ Â�è ¤�ÂØ� (�) ¥�¹õ ¤�ÂØ� (�) �î ´¡�¨ ö��� üõ 5000¥� ÂµÈ�� üÞì¤ ¤�ú� ¢Àä À�� 7 ø 6 ø 4 ø 2 ø 0 ��ì¤� �� (8.Àª�� ùÀõ� "�' éÂ� �ú÷� ¤¢ �î ´¡�¨ ö��� üõ üêÂ� �¨ �ÞÜî À�� "ñ�Þµ��' �ÞÜî éøÂ� �� (9.À÷Â�Ú� ¤�Âì Ýû ¤��î "�' ø "�' éøÂ� �î ´ª�÷ ö��� üõ üêÂ� 6 �ÞÜî À�� "���Þµ�� ø ¤�õ�' �ÞÜî éøÂ� �� (10?À��î �À�� �¤ ý�Ìä 8 �bä�Þ¹õ ×þ ý�Ìä 4 ý�û�ä�Þ¹õÂþ¥ ¢�Àã� (113 (Óó� ö��� üõ (�ûùÂúõ ý¤�ÁÚþ�� öøÀ�) ÕþÂÏ À�� �� ù��¨ ùÂúõ 10 ø �õÂì ùÂúõ 5 ø À�Ô¨ ùÂúõ 4 Ûõ�ª ý� �±ã� ¥� (12.¢Âî ��¿µ÷� ù��¨ ùÂúõ ×þ ø À�Ô¨ ùÂúõ 2 (� ?¢Âî ��¿µ÷� ùÂúõø 2000 ß�� �î ´¡�¨ ö��� üõ üÞì¤ ¤�ú� ¢Àä À�� 9 ø 8 ø 6 ø 4 ø 2 ø 1 ��ì¤� �� ,Àª�±÷ ¥�¹õ ¤�ÂØ� �Ø��¤�¬ ¤¢ (13.À÷Â�Ú� ¤�Âì 5000.¢�¢ Û�ØÈ� ùÂÔ÷ 11 Ý�� ×þ ö��� üõ ÕþÂÏ À�� �� ñ�±��ê ßØþ¥�� 20 ß�� ¥� (14.¢�¢ Û�ØÈ� ùÂÔ÷ 10 Ý�� ø¢ ö��� üõ ÕþÂÏ À�� �� ñ�±��ê ßØþ¥�� 20 ß�� ¥� (15ö��� üõ ¶Ü·õ À�� À÷Â�ð üÞ÷ ¤�Âì Í¡ ×þ Â� �ú÷� ¥� ý� �ÎÖ÷ �¨ º�û �î ��Êµ¿õ �½Ô¬ ¤¢ ¢���õ �ÎÖ÷ 10 �� (16.À�ª�� üÊ¿Èõ �ÎÖ÷ Ûõ�ª �î ü��ú·Ü·õ ¢�Àã� ü�ãþ Àª�� Ûõ�ª Ý�û��¡ üõ �¤ üÊ¿Èõ �ÎÖ÷ Âð� ?´¡�¨?¢�Þ÷ Ý�ÆÖ� ùÂÔ÷ 4 ùøÂð 5 �� ÕþÂÏ À�� �� ö��� üõ �¤ ÂÔ÷ 20 (17?À�ª�� �þ�ÞµõÂ�è �û ùÂúõ Âð� ø ?¢�¢ ¤�Âì �±ã� 5 ¤¢ ö��� üõ ÕþÂÏ À�� �� �¤ �þ�Þµõ ùbÂúõ 3 (18?¢�¢ «�Êµ¡� ÂÔ÷ 10 �� ö��� üõ ÕþÂÏ À�� �� �¤ ùÂÔ÷ 2 ë��� 2 ø ùÂÔ÷ 3 ë��� ø¢ (19Àþ� Ç�� ´¨� ßØÞõ ´ó�� À�� .´¨� ùÀª Û�ØÈ� ùÂÔ÷ 5 ü��ç�Ü±� �b µ�Þî ×þ ,ö¥ 2 ø ¢Âõ 18 Ûõ�ª ÂÔ÷ 20 ö��õ ¥� (20?À�ª�� �µ�Þî Ǒ�� �fÞµ� ö¥ ø¢ ßþ� �î


